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Use additional reading time to go through the question paper, select the questions you will answer and decide which
of them you will prioritise.

@B (eedlw) / sndsd (Bwsremng8sw) / Music (Western) I

[ coees:/ ofaymsssse Instructions:

# Bog ® uE»OEO B8nd e,
GT6V6T  AIITHBEHHEGD cleNL HHH.
Answer all questions.

¥ 1-40 e gloE (1),(2), (3), (4) 8Exc D8 BOGE evd D0 oeen® el B0 emidh vsim.
1 GaTLES®D 40 auenyulsien @auGeur aflameligad (1),(2),(3),(4) et srawamfiLCILL L. eflemL seriled Ffluimen
Sievegl 10&L QUTBSSIOTeN silspLenild CFflaCFuis.
From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.

% 280 wsess BERd sned oF &N gdve wewm & &8 0 eneds 88 emid o BEmel aomud
sesecs s e (X) e owests. ’
o 106@ eNPEIEILL Boen el GHoTeflsd @aiteuT® elamabeld 2 flu el Lmis6lled 2 Logl
aleniulen Bevssdsmsd @55 el LHHaenGar Lsismgenw (X) B6GS.
Mark a cross (X) on the number corresponding to your choice in the answer sheet provided.
¥ 00 BEno vned Bloe & e gemd coect ¢ ereScecst Bed, S8 ¢ BEsEsm.
oflenL_S&Teflan pLGHSHS SIUILL BTN BB P OBISSHEOHMENULLD SHIEIDTES amdlhal SiuBemBL
UeTiBmIs.
L Further instructions are given on the back of the answer sheet. Follow them carefully.

_J

1. em0Qeds e »J0 @ $0ds des’ e®08s RO ¢?
Leiaupeusieupmist jenL liilgeil @ELLIL LU Geten edaySHes sflwrer Gy wirg?
Which of the following is the note indicated in the box?

(1) F

2) F* —— =
(3) G A
@ c* .

2. 2 00 enecs Ome@BBE w&mmdws eMEBOD ode Driers’ e®2idx R@ ¢?
SILILLBeTen eaughiseaicd eaianmiCrelsd @S5s31e BTSsl 65!’
Which of the following notes is nmot enharmonically equivalent to the others?
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& 1B A ders Bag 890 wy 60sdde gocied Snnd & Drles’ B3 06 803w ¢?
S GeiTen LT Ee0ieien ienaisdl eraufmise, Gyevled Sydlweubpler wFiier Gorssid Leitau(mLd

Abd OAIHBHIGGE FOTOIH GID?
Which of the following notes is equivalent to the total value of the notes and rests in the given bar?

3 [ @ [

ee8eddm v (7) £90 asmoss ardens’ @@l »OTD ¢?
Weiteumeuaeummisit gap (7) QFOGsTaed SeGaicderd o eitergi 615i?
Which of the following intervals has seven (7) semitones?

ey o (3) WZ
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@ a8 590 estoded guldbees Drle’ @@l O ¢?
WeitaumeuameuiBmien  SIvILL Geien erosuy Seoeueie Sa@Caufager org%i?
Which of the following is the inversion of the given interval?

P
“ bey
o e 0 FFE=—o 0 =5 CE =i

8@ Bemes e Sosc goee Drtest 823 @ ¢?
Weiteumeuaneummien QuTgleuTen e lenend OQasmemi. edGmed Gamy e1gi?
Which of these pairs of scales share a common feature?

(1) E major / G sharp minor (2) E flat major / G minor
(3) B flat major / F minor (4) A major / F sharp minor

€ 1B @B et VBeddws cvgss, 00 ¢vwrs’ WIS (80) ece (B aient 83 moOdm ¢?
sILLL Geter Benalt LeHulen @m @bCT6 HOTE Gva] SDIeT6| SiMFLILIBIGTES ST LCUGeus 61517
Which of the following is the given extract transposed an octave lower, with the note durations
halved?
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8.

10.

11.

12.

13.

14.

15.

€ @B ©.80 Readled ades’ DY de g1 @0l OO B8 emrdd O verm Bz O ¢?
estaumeuameubmier Syl Geten enall LGHulled Smg ury Sevieiren el Eeniell FDaTe: 2 6iTen
&Cural Liberd erewtenlbens wimgs?

Which of these is the number of crotchet beats equal to the rest in the last bar of the given
extract?

ety

M 2 @ 3 (3) 4 @ 5

000 Y O wdybien 8800 ewiirwn B eedBycl o0 Mmaiw dxles’ 853 DO ¢?
estaumeuaeuBmer Syl Beften LTy Sevedl LIeILBSSIMNSBEG ULGTLGSHSHImigut BOTG&H60] aroaTs
Carad aa?

Which of the following irregular groups of notes is the most suitable to complete the given bar?

%
u{]—-g--o'-- S— S - S S W S
(1) A duplet of quavers (2) A triplet of quavers

(3) A duplet of semiquavers (4) A wiplet of semiquavers

g 8 Dmwsed B8eAcE Sus Bed ¢?

S BeTen auThEWHH FeoLLeD T1HSHMEN 2 _6iT6Imen?

How many syllables are there in the given sentence?
‘Snowdrops and daffodils, butterflies and bees’

1) 12 2 1u 3) 10 “ 9

B dc® »ibe@iSs @858 gdedine tedzed ©d88w0sid €D0n drier 8% »OIm ¢?
Uereupelaiaupmiet B 1lem. ammiGuoreis eower] oieuGrrssm e08seden slbliguieiB erbeusid 61ghi?
Which of the following is the submediant of B flat Harmonic minor in descending form?

1 A (2) A flat 3) G 4) G flat

G 88558 V' emfdde D5%es’ 83 200 ¢?
Westeumeuensupmist G evweny @eit V! Gam eig?
Which of these is the V7 chord of G minor?

e >ia
) éﬁ B o I8 3)
e

BB guddew duless 85 00 ¢?
LeiTa(heUaTOUBMIOT 6mLo6] L Jull 61g?
Which of these is a minor triad?
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‘@0@ved 80 wm gcve EBedniensd @@l o om ¢°?
Heralmeuaaubmie ‘sugibusselBhs B SHSMBHSE GBUIBGeuH 61517
Which of these gives the meaning ‘From the beginning’?

(1) DC 2) fz 3) DS 4 ff

‘G107 NBerst® vIdn WO ELeC VOB Yool &?
LasTau(heussieummien ‘eruUTCLT SiFHsenalsd LWSTUGSSIUL L STe0D 61?7
During which period was ‘Rubato’ mostly used?

(1) Baroque (2) Classical (3) Romantic (4) Modern

[4 &5 800 Desi. / uék. 4 U unjbs / See page 4
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16.

17.

18.

19.

20.

21.

22,

23.

900883000 com 3¢ BBXHS ecscs Dl 85 »Ody ¢?
ﬂa&an@@mnmd} anniBafluled LIBHs BF DUSEGBISET Bmeuy wimy?
Which of these two composers were born in Hungary?
(1) Wagner / Bartok (2) Liszt / Mendelsohn
(3) Stravinsky / Gershwin (4) Liszt / Bartok

Bewdhds eandded 8= o ¢?
UeraumeusauBmieln gBUIT SieLeoTHHI 61517
Which of these is not an opera?
(1) Aida (2) Elijah (3) Lohengrin (4) Fidelio

‘Piano Quiutet’pcﬁzsazsf By wBnwun dsfert 853 wdeds ¢?
UesreumGeurfled ‘Piano Quiuter’ @efiens sl Qens Spb@GHI wWj?
Which of these composers wrote a Piano Quintet?
(1) Chopin (2) Beethoven (3) Schubert (4) Ravel

@ e Srowdum Sund ©on A HBOCE 8End e’ 8x3 2o ¢?
Sy’ Geiten aufliii seng efleufisdlens sflwmer ailant LeTeubeuereBmier o157

Which of these options correctly describes the given illustration? R Q W ——
-
(1) Half Close in G minor i
(2) Amen Cadence in G minor ks
(3) Perfect Cadence in B flat Major l‘) O
(4) Abrupt Cadence in B flat Major 7 X3 =

008 Bn aneds’ »Edetd Bnws emddes 83 »OTES ¢?

U eraumeuereummlein HeINIGHT ‘LML 60 SILOTHS! adi?

Which of these is not a Calypso Song?
(1) Yellow Bird (2) Jamaican Farewell
(3) Banana Boat Song (4) Red River Valley

008 B anEcs I E20E M BIZD Bwiend emdes ¢ 1¢e dxles’ 8 Bm® miBiem ¢?
@hs SHsRGald UTEDL UGSyl Fwors HurCam uGHUD YoBuddied CLBID 6D 61al?
In which of the following is the piano part equal in importance to the voice part?

(1) Mozart’s “Magic Flute” (2) Wagner’s “Bridal Chorus”

(3) Schubert’s “Erl King” (4) Verdi’s “Aida”

coD CE BOSE ens ¢ wBnwes’ (B grfes B »dow ¢?
Leiteumeuaneumpmist Qs spb@Bisatear Lptilear sfurar umg aflomd ag?
Which of the following composers are in the correct order of birth?

(1) Scarlatti, Beethoven, Chopin, Ravel

(2) Mozart, Schubert, Haydn, Stravinsky

(3) Handel, Verdi, Gershwin, Bartok

(4) Bach, Tchaikovsky, Bartok, Wagner

2 B 90530 O Doy we @n BOCE acs e 8 ned ¢?
WeiTeumeuenauBmiein SHIUILL Belten @FemOaTB Bamabaiul. Goueasigul FHUITET (PPN GBUIBW |
oflenL 61517

Which of the following is the correct way to play the given ornament?

O e
Girerrr] O SEEETS

[5 815 80P Peddo. / udb. 5 mu unjds / See page S
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24.

25.

26.

27.

28.

29.

30.

31.

32.

‘@Cistetn e@md®’ ©Be® CoRimeE Dlest Bl Bu® maBar ¢?
Weiteumeueneunmist ‘Rondo Form’ @@ 2 gnewmions SGlug esl?
Which of the following works is an example of ‘Rondo Form’?
(1) Fur Elise (2) Harmonious Blacksmith
(3) The Sandman (4) Lullaby

‘Rite of Spring” sz cded mETs 863 ¢?
‘Rite of Spring” oué&5ma e(pgueuy wimy?
Who wrote the ‘Rite of Spring’?
(1) Claude Debussy (2) Tchaikovsky (3) Gershwin (4) Stravinsky

BOGE gmas 538 88 90 ¢?
STILL Geiten eursbBnkisaled FHwmer euTsdund 6gi?
What is the correct statement from the following?
(1) The audiénce claps after each movement in a concerto.
(2) The tuba is a transposing instrument.
(3) Two maddala are used in the performance of a Nadagam.
(4) The tabla, udekki, mrudangam, and bummediya are South Indian Percussion instruments.

BOBw® 4 O» emded enl® O» dxies 853 »OTE ¢?
Weiteumeusneunmisit SibLiel geiifleit 4 Spoua LGH Caumb Spaugi 617
Which of the following is the form of the 4th movement of a symphony?
(1) Binary form (2) Rondo form
(3) Minuet and Trio form (4) Variation form

038 9853 Demyw Do’ 83 OIS ¢?
Uetreumeuasupmer GuT geiierntsd BemasaluiBeud 67
Which of these is played with a bow?
(1) Esraj (2) Sitar (3) Veena (4) Tampura

0O oBm 90680 GOE ¢REds Bum G 80500 B slensd 5 B twgs vO egFes’ 853 BOIW ¢?
Bb5 Bmssamalse Gamouisd s Gater sbagsms el CuIbusL 5 &ipTs 60 &Heugl a1g?
Which combination of instruments sounds a perfect 5® lower than written?

(1) Clarinet in A/ Horn in F (2) English Horn / Horn in F

(3) Trumpet in B flat / Piccolo (4) Clarinet in B flat / Trombone

‘F-holes’ 6823 9538 d¥ens’ 828 w03 w.dn wiest)ws ¢?
Uereumeuaieupmien ‘F-holes’ anewdanigl Qensobsmal 6d?
Which of the following instruments have ‘F-holes’?
(1) Piccolo (2) Viola (3) Harp (4) French Horn

o R Diems BISemO Byd (9@ af) Bom) Y b Bg g A IO gdws g Dom&
£30BD@m @B DOmE B OGS ¢?
eeumeuamsaupme BIiby amsHusms Bass@nCurs Wl (@memuls GMBEGLD)  eienBLl
LUGTLESS CauaiBGOoms M Gausne s DUSGHI LWSTLUGSSID CFmed agi?
Which word does a composer use when he wants a string player to use a mute?

(1) Pizzicato (2) Col Legno (3) Con Sordino (4) Arco

D@0, BewiE®, eDeEd » Bwesdd Dimes B CRY DAY DEeRENBOE »HO® By D
BT 90 853 @ ¢?
Vereumeuaraupmiet auweder, elGwimeor, QF8sor, TG i miGD CFbLy @psllsit Flwirrer GLiwensS
GG 61gI?
Which of these is the correct name to a Chamber group consisting of a Violin, Viola, Cello, and
Piano?

(1) String Quartet (2) Piano Quartet (3) Cello Quartet (4) Viola Quartet

16 815 808 QEswm. / ub. 6 b urjds / See page 6
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33. ‘Demtiped B8 wousimn’ ece weEOm wdn wresta Des 8 HOTH ¢?
Ueieupeuenaibpet ‘@OsatyTellsd’ Bansssionsl MPRGHITS S@MSTEIILGL B dsmal 613)?
Which instrument is known as the ‘Clown of the Orchestra’?

(1) Piccolo (2) Oboe (3) Bassoon (4) Clarinet

34. € B BB w08 anedsl mGied D8 BEBR SO tews o Dicmn BEEO B850 B poedd)

ceesid mony cRTes’ DT ¢?
SILLLGeTTeT HAbieis Sbsnsaisd smsular sSTUTSSTD eenpl NHHHILGSSSBETES LsoGaup)
Bemgs BBailse @b SHUOLTHMET Mmassll LWELGSSILGIS tiesTaumeuestouBlen 61517
Which of the following symphonic works use different instruments to play a theme to represent
a character in the story?

(1) Carnival of animals (2) Mid summer nights dream

(3) Peter and the wolf (4) William Tell

35. Disc Jockey wm »0eors ¢?
Disc Jockey erestiieuy wimy?
Who is a Disc Jockey?
(I) A person who records, edits, and plays back music
(2) A person who modifies, generates, and controls sounds
(3) A person who plays a synthesizer
(4) A person who mixes recorded music, as it is played

36. o8 Bows d¥es’ 83 @S ¢?
Uleteu(meueteuBmisit LIFFavd) LM 60 eaiaiugl 6157
Which of these is a Prashasthi Gee?
(1) Gambeera Thedathi Konsththinu pure (2) Waramathi Suba Charithe
(3) Sriya Manmath Vee (4) Wasana Dineki

37. ‘King of Swing’ ece gz30b0 ww@ewsl weslon cRslest 853 S wdmwa ¢?
deraumGaumfled ‘King of Swing® eeiip Quuiflemed SemismaniiL@n Seng OLBSBT Wny?
Which of the following composers is named ‘King of Swing’?

(1) Benny Goodman (2) Scott Joplin (3) Louis Armstrong (4) Duke Ellington

38. wom & a8 B ue i Bow O5les 8 »OsH ¢?
Ueleupid UmL_edBeiled QEFMBB6T SILBIBUeTen LITL6D 61517
Which of the following songs contain given words?
“Now, neath the silver moon, the ocean is glowing”
(1) O Solo Mio (2) Any Dream Will Do (3) Santa Lucia (4) Country Roads

39. ©on & @B woBn dedde aws Oxler 8 00 B ¢?
oo oyl Holon GG Liedleu(bld ollbdy hbtbhBHIBE 2 _TILISTSLD !
To which of the following music composition is the given extract belong?

" o 1o J & | - d' | Terc
! o & - [ Bz
T —&
(1) Lullaby (2) Shaker’s Tune (3) Morning (4) CanoninD

40. & Comed HHBm B D1 Valced BEeum D536’ 85 »Deds c?
tetaumGaufled Geomianaulsd Cadlu Senenehi eursgu G(DemeY 2 (HeUTSHSIWIGUT UITT?
Which of the following persons is the founder of the National Youth Orchestra of Sri Lanka?
(1) Harsha Makalanda (2) | Lalanath D& "Silva
(3) Maya Abeywickrama 4) "Dilup Gabadamudalige
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General Certificate of Education (Ord. Level) Examination, 2023 (2024)

B (@08®) L II
gnissd (Comengezmsw) 1,11
Music (Western ) LII

2B (ged€o) / sndsd (Cwamens8sur) / Music (Western) 11

1 o gdow gD A aoo B em00e8DEs gedsy ecw @853 enicienn, gdn onmd BEnT; 68 uped ®
238353,

1 sb eflemr 2 11 U@Q‘ﬂ A, uesH B asuabelmbs Seelyemi® elamssamens Gfa0Fuisl,
6T6060MIOTS MbGH! NTEHEHHE SHSTaMGGW ol Hhd.

Answer five questions including question No. 1 and selecting two questions from each of the parts

A and B on this paper itself.

A =
’ Bm® o/ s eies /Index No. ...

For Examiners’ Use only

i ™y
(41) Music (Western) II
Part Question No. | Marks Awarded
| Final Mark
In Numbers
2 — -
In Words
A 3
4
5 Code Number
r B
Marking Examiner
B 6 1
Marks Checked by:
7 2
Supervised by
\ v,
Total
- J

—

.[8_81,@ 800 deowm. / us. 8 @t uniss / See page 8
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1. oo 8 a8 wdn deddds alseme 3 gm B YE»OED B8R eenzis.
&6 HIUULGelTen GenalLGHm Sleusrafhban Cal SN [BHellen Mo EndHE alenl TIpSHIS.
Study the music piece given below and answer the questions.

Allegro
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(i) c®® 3.8» DBx B a8 8 O &I ¢?
Bbd BFUUGSH 6hdH S@0 TSI Beiteng)?
In which key is this music piece written?

—

(1 mark)
(ii) ©®® @.dBn #DS yBICWO age 088 Bdesidds Budn dlimed graes wossm.
Bbs Bws eoen] aumIliBg o flu Fflurer engib HaGaFsemy o flul QL HHD 2 66T H@G5.
Insert the correct time signature in the appropriate place in the score. (1 mark)

[0 9 800 Rezk. / us. 9 gl unjss / See page 9
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(iii)

@v)

)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

58 meBed B 90 gmd ecdm @b ders 18808, O8T3 e ™S a8 ve§ doded bersEwd ¢rnd
BE w0 (0B, ggesbiedrBs ) sl mosim.

GamsiugHuls & @BeE; gy S@TeHiTeigh LT @60 el flé (psold DiewL uwmemOL UL (LPpH6D
eroaugSAe 0CHIBE, giL 9B flenwid (QpTeld, SULLTEITaNs Sydlumer) GRILLNGS.

Name the scale degree (as Tonic, Supertonic, etc.) of the first note in the 2™ bar marked with an
asterisk according to the key of the music piece.

080 mBed enl® O ©eHsd DI KD el R g OBz cronim.
b BmariuGaulsn Cumbd Bemends GUUILEG oA uGHsefes L] Reobsmibamand GUHILLIGS.
State the form of this composition and give the bar numbers of the main sections.

(1 mark)
8 a0 1 e 8 a0 2.8 e@BYeEd O @B gows I B On PO,
Ly @evdbaid 1 @ﬁ)@tb 8 Ao BmLuled Remg Gomgu (Gl D@L UT] @evdbsid, & siLBmBES
GBRUIIGS.
State the bar number and the key the music modulates between bars 1 and 8.

(1 mark)
@®® .8 miBc gdes’ O B O ¥ esins »H® wOBIm.
Bhs RmFNIGEH (WPigausdL ulld Cal_aiierd, DAHT & sieiLieuBpBlensill GLwfiBe.
Name the key and the cadence that ends this music piece.
...................................................................................................................... ( 1mark)

02 Hedded Al go 4 8 &893 slienO 5 =3 enEs? MY gom 8§ B 0O Ledded (a) ecs ¢80 8

em0ets Busim.

Buerd 610Gyl @0 LT @evdsid 4 Bev eroaud GUFGLIGL. 5 Gwsd LTy BevdsD 8 B0 ibdH VBT

(a) etonds @GPRINTL_OL Beiten LGHUT6D 610pHIH.

Write the bass part of bar 4 a perfect 5" higher at bar 8 in the same clef indicated as ((zi). o
mar:

0®® @.8m miBed (b) ecs cue »C @ e0cdd B Yo Jud dws gw. 90 B O »® »J Jud

(b) Bedms wosis.

Abs BmaiugsHuisd (b) sien oepLwmemOL L Bsiten flGevr 1963 & E6dl LJUIB @ediBl 2 6il6Ngl. Db

& @eit Quuenys GBHUN_G, Cyum (b) Rewen alleuflb@Es. ’

The triad marked as (b) is in the relative key of the music piece. Name the key and describe

the triad (b).

(1 mark)
0®® miBed eOBewn O JHo DosI.
Absl LuGHuier GrioGurslsnsi eflend@s.
Explain the tempo of the piece.
...................................................................................................................... ( 1mark)

‘©@®@®0w0’ 8 ACeDBewdd Bum ¢ wodnww 8853 e@® miBc Bws gim. & B ©.8n mBed Bwudn
BNmed Bdmwmed »H® Ersim.

‘GosmFwin’ sisip @MEITAGLTENaI B Bengd UbGBITED Nbd UHSID SIIPHLILIL Beilerighl. HILILIL Beiten
AmF SEHHHO 2 flul G HHd DnF UbGHer LU 61(1pSHI%b.

This music piece was written by the composer who composed the oratorio ‘Messiah’. Write the
name of the composer in the correct place of the given score. (1 mark)

e®® .8m Bt By w.drww 88 gos » dyed w@IBs B.drwwn O wIBsH.

Bbs @mFUUGHOW IPHW ReDF YUSGHMHSEG 2 fll SHTeVD LBDHID SIUGHDLUW FIOHTE0 SnF
SGBT @Heuflell GLLT Hhe.

Name the period of the composer of this music piece and name a contemporary COMpOSer.

Period ..o diior e e e e e en e e Contemporary composer

[10 &8 800 Dew®. / us. 10 g unjss / See page 10
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(xil) egRC LeOd8 Db o 2 w® o 3 DICHB BE G 8T eIewrs’ SN WwoEim.
LG ieit e0Byed Gleti LMY 2 2 10 3 2 10 RenFhsiL Goustiigul (HeHBUTNTF F(HHHIONE efleufldbds.
Explain briefly how bars 2 and 3 of the treble stave should be played.

(1 mark)

A em0® /ugd A/ PART A
B® ydo eCHWO BEMT @enzim.
cTemaiGuisnid @Tesi® NeToHoHEmHE Menl WeMdbE&H5.
Answer any two questions.

2. (i) DoEs} a6®» o> 00530enSs demced 806 0witinBBss ediced HB08E ders @b 4 » eeciuvns
Busto. g DE Gy FITB (BOBID (e0Bew), 6Bz ww BB®BS). G PeEs »dn wozim.
D &eb awLbLﬂés&ﬂg&m GueayQyTald avBaseled aeurmIssl BaFhd Geursderd LITHIEED 4 LiTfseafed Glosolg
QETENB  HIDSHIE. . Bamasaiin Galewigul (psmpuimerd GUIIGs (CoGur, LIGTendim, L anfderD).
G Slene)  UWITLIBHEIS.
Compose a 4-bar melody using the notes of the pentatonic scale starting on D, in the style of a
Waltz. Add performance directions (Tempo, phrasing, and dynamics). Use the G clef.

(4 marks)

(ii) (a) @®@® e®cscs C»te®iSs 880 deced @R O» 383 wnd B8O wewr BOG8 qrBed=ioces
®wITIBY.
sflwren SBenl0Lsiyevad CayHmt Bibsh Gsvgenut C amryGiomeafls snwan] ero6Hsd el gBLBHHID
pmBUTsd PUEBIGLBSSHI®.
Add the correct accidentals to make this melody sound in the key of C harmonic minor.

(b) Bedonz? e SO0 @wiey F d00ens’ ¢io®» dm g deice a®ylen momim.
F eibauyddled unbLor@Ld LenenBGasened el ILBGoHoiusnE CeubniiaB@ eveumisel Cajdds.
Complete this blues scale beginning on F, adding the missing notes.

2,

2 3 ¥
3 L _ W

o) -—
* j = |

B : (2 marks)

T
L YHA

(iii) & @8 8¢® 00 w0 WS eQYAC PecrB, BOE B BBexsiDde ewicy B 3e0 e®8t dedced
geedhnesr aced Burim. adws’ Al Om Ky ©0wd Owes ewi wdyles wosim.
SICL_Beiten Nl Camevdhast LWELGES 1 milst Soemst Hev & AdCeandsl LwELBGSHE B ien’
By evBmallell UGB (Pepuled elapHIs. @M UTT Rewen CUTHSSHWIS GJadL.  @&TEnBF
CoyHel LUTIILGIHDID.
Write the descending form of B flat major scale in the Treble clef using the given rhythmic pattern,
using the correct key signature. Complete the last bar with a suitable rest.

S oS, -

A

(4 marks) |
[11 &8 898 deme. / udb. 11 g unjsas / See page 11
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3. (i) oo wcos’ Boed e & g 8O D0 wo€s B0 Buslm.
&G syULBelten LML glidbaTar CammBsamet HILLL Geiten fgid GsTevshde &b FHluITe 61(1pSHIs.
Write the syllables of the given verse correctly under the given rhythmic pattern.
I wandered lonely as a cloud,
That floats on high o’er vales and hills

When all at once I saw a crowd,
A host of golden daffodils.

PP A OV Y O Y Y I A

Iy | |

(4 marks)

(i) =o» & g8 Aedds AU»O0E ©Bvd D D rISwd »ED Bwsim.
&6 iU Bellen  UGHeOW! QFONGLSHBEN © L6l (1papedIpuiTgG BFsslIuGD  wepuiled 1BasiHid
6I(DDIS.
Rewrite the passage with the ornaments written as they should be played.

(4 marks)

(i) 2 @18 ©.8» Dedtsd BO0E 088 BdesDde ® & g5 A B ewicslm. e®a g8 dnSs3
g0®» ed.
S Beiten  AeslLGHEGF Fflummer ey HSCandFay, osBGasmB LTy mevaied BaFToHGs. Hal
DB (HFTD QEIIDIL T DLFIDLLOTEGTBSL.
Add the bar lines and the correct time signature to the given passage. It begins with an -anacrusis.

(4 marks)

LS )

[12 &x® 80P desym. / udb. 12 g unjss / See page 12
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4. 093¢ Perrd By e®cBu wle®imnied BB wgwo 00 @edd8 03enyy eCEme®s ¢330 gl Yo
@000 B, B8RO, 0mrdd ecm 8d0EO g 88 Bwxim.
L Oplsit &Gensil B0 6IapHIN Beitenn GLocOIgeNLI QBTFIEMaTED GlFUinsmsTS GLied a0Byeit Be0 2 @ymipesr
Blevdanisemed ST Geilen 1 yuwiied, GLTLLL fafibed, alibed, GCBIFL 6D cial FHHEHHIHES o_fluieurm
DB
Write triads shown by the Roman numerals, accordingly as Dotted Minims, Minims or Crotchets in the
Bass stave to harmonize the melody written in the Treble clef.

gi g ﬂ =4 ,_,--'-"_'_—__-___-—_‘__"“-«
e e e e e
\éf |__] = pr—t—i 5 I — | ]
= 3
I - Vb IVb Ib Vv 1 IVb iib v 1

(12 marks)

B emn0& / ugsd B/ PART B
Box® o> ecoDO BEOT wBwsim.
aemeBuisnid BJemi® NmHHEHHE ellenL Wb Gs.
Answer any two questions.

5. () c@ & aB 2:8» deaded LS08E 950 orgenm BB Bdws dEmc @b 8 » wdylen o®cdasd
RBSoens oD, Oreens e0®e, e v D858 wdylie e@CEBEO ewIgEiD.

LI Beiten SenslILGHmul @od eoengelsy oeiafini LIGrerd Gaijdha! 616 LITT (LAReNLOLITE GLOGVIQUITS
LUTLILIBSHSIE. QUTGhGSSITE GrbGuT, 1IGreniEl, emLanibad Gajshal Glosvgemwl LUFaiLbGsgis.
Complete this melody by adding an answering phrase in the same style to make an eight-bar
complete melody. Add suitable marks of tempo, phrasing, and dynamics to the complete melody.

|

Sgg.gl—q e ﬁ,';_g. -ji\’f

| 1HES

i

o — —— ] l =
1 ¥

0

&
FL
[ oWl
=7 =

(6 marks)

(i) 2 @B b dedded ‘@’ w1 ‘b’ ece ¢ B e IEOC 00, @O ®1 grEedr wgwI BOC @wIg)
ccey ©88 wduben wOTD. eIROCEO wdE ediEy) PCEP® PIdvenrs’ eEdsinrs’ H® DOBI.
SILILL Beiien  GevanuGHeoow ‘a’, ‘b’ a1 GBI’ Beiren Gl aiteroendled BGuerd, Gyery, oEOBLT
SIBTLICUBRIGSETT  SOAIIEIEME LWEILGHE CUIGSSITET alesHed LIalLBHSis. Gom el &P
o Gump @edsd LWSLGSE GsLaterd GLwy GBnIBes.

Complete the cadences in the given melody by writing the appropriate notes for Bass, Tenor and
Alto at ‘a’ and ‘b’. Write Roman numerals under the chord to indicate the cadences.

0 Y N U A S VN N
: _ﬁ:.;"‘::%#_-__g__;__ Fer—teg e 7 —
L F1F = 7
4 24 I U/
= P - . 5
! a l i | b
n o= i I |
_ (6marks))

[13 &® 8O Oesdo. / udk. 13 gl uniieas / See page 13
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6. (i) 2 g8 2008 vdn OB BD10E Bers ewir e®® ©.dn Dettdn A Lemit® »En Brslm.
SriuL Geiten  a0Grel LWMTLUGSS  Fflumer Hoersll @MU LWGILGHE BHdH Sandtl UGH®UI LI
er0BHM 60 156TBID 6I(1DS1b.

Re-write this passage in Open score using the correct clefs in the given stave.

§ ==
(8 marks)
(i) oo & 8 0®cs enddon €00 yEmIS PHOEO amP® oI Ewrsis.

&8 i Beiten Gloevigenul HeGEHUL arO6UT ML (LPMBECHBLI DTBYY G1(IDSHI.

Convert the given melody into oriental notation.
e i EG — P - 1 [ _E.",‘
{42 ! — —— I z —
o

(4marks)

7. (1) oo 8 g8 ©.8n vt Oad 88acd omd ddncur 0 O8 Digmw B 1B eD3/sdisnsy o &
18 dedded Busim. » wietws m»HO 98 O 9 o god »J g 800w ¢DED.
&8 s Belten Aenad H(helsefed @elenpll LMY Fmbsiorar aleuflin] 61(1p%h SDiDd Bensbobdhdnigul
aoeny eiFdlenent &G UL Beiten edGell @60 61WSHIS. BIDL] UTHHWGOND @eGeUT(H HIDLD Huyesr
GBI eOauIRIBeDsS GHIENIBS.
Write a brief description on one of the following instruments and give the compass of the instruments

you have chosen on the stave below. In the case of a string instrument, give the notes to which
each string is tuned.

(a) French Horn (b) Flute (¢) Violin (d) Double Bass

.................................................................................................................. e
) [14 685 808 Beak. / ud. 14 i unjés / See page 14
[ Downloaded from Past Papers Wiki - Most Extensive Wikipedia of Past Papers! |



https://pastpapers.wiki/

OL/2023(2024)/41/STE-L, 11 o

.................................................................................................................................

.................................................................................................................................

.................................................................................................................................

.................................................................................................................................

.................................................................................................................................

(4 marks)
(i) (@) vo & 3B @8 @ Ok Obeomd g d. S 8 iz,
BBip Sy Beiten cpsii SLHHHIBEHID aeHHG 2 fumea. Sipoan aleufldbdgb GLwfenestd
*

SSRGS
These three .compositions belong to the same category. Name the term to describe it.
e “Pastoral Symphony” e “Peter and the Wolf” e “1812 Overture”
CHIEROTY SEAHE WOHK scvousnmsnvarnsnnrnunssmmsranpamess an s IR RH 3 1AL RH SAVANERN i s s o nmb oty

b) ovo (ii)a) 8 Eedm ©:® mBwen® sdnwm HB 20 9 08 w.dnwer BEAcH dyed @ow,
20, guge dbsw, 8w, E0ved D1ged emITRCL med eemBnasl » B es woe
epISRd; ames end ddndes Eosim.

GiBev (ii)(a) Bsd @y L @eIbauT[H YHBHDIGGHD o flu sybGHIGaNE Cuwers GEOTG,
sl gmaufler Guuwy, arew, 1Ipbs QIGLID, @D, QuTpHmEUTET (WoHEU  SHBAIEDSE,
oifld  FBTOHSMIGE, Uit B WHSI  DLEHBHEIBT sleILIRIBeND 2 eitenl_hdl  Am
aflauTenID  61(LDSIS.

Identify the composer of éach composition given in (ii)(a) above, and write a brief description of
one of the composers, including his historical period, name, year of birth, nationality, important
facts about his life, his contemporaries, and two significant works.

(1) “Pastoral Symphony” COMPOSET  ...cvvvuuuseerimmuirrermmissstetens sttt sseie
(2) “Peter and the Wolf ” Composer

........................................................................

(3) “1812 Overture” COMPOSET  ..eoivunrmunrmnanannsreesanesinsnanens s A

ale  ale  als

[ Downloaded from Past Papers Wiki - Most Extensive Wikipedia of Past Papers! |
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